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ABC DBAC =a =60°
DCBA=b DACB =g B P
BP'=BP A0 r
AP" = AP' DBP'P
b/2.  4Q+QP"=4B+BP=40+0B
OP"=0B DAP'P" (
) AP DBAC
PP'=PP".

B,P, P"

DBPP" DPBQ =DPP'B=DPP'Q =b /2

()

* * *
** *k*k
*
**
*kk
P BP" BP"
DBPP" BP = PP" = PP'
BPP"
b/2=60°. ( a+b =60°
+120° =180°) B,P, P P
C
DBCO 120°- b
:g:b/z b =80° g=40° DABC
60-80-40
ZABQ = Z/CBO =6 ZAQB =180° -
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ZBAQ - ZABQ =180°-60°-8=120°-0 LAPB
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=180°— ZBAP — ZABP =180°-30°-26 =150°—
20.
A0 +0B _ sind +sin60°

DABQ B sin(120°-0) .
AB +BP
DABP 1B
sin(150° - 28) + sin 30°
© sin(150°-26)
. AQ +0B
AB+BP = AQ + 0B T
B+ BP
4B
sind +sin60°  sin(150°—26)+sin30°

sin(120°-6) sin(150°-28)
_ 25in(90° — @) cos(60°—6)
sin(150°-28)

2sin(&/2+30°) cos(6/2-30°)
sin(60°+6)

_ 2cos@sin(30°+0)

T sin(26+30°)

sin(@/2+30°)cos(8/2—-30°)sin(26+30°) = cos &
sin(6/2+30°)sin(f+ 60°) = 2 cosf sin( &/ 2 +30°)
sin(8/2+30°) cos(6/2+30°)

z>0/2+30°>0
cos(6/2 —30°)sin(20+30°) =[sin(26 +30°) +
sin 30°]cos(@/2+30°)
[cos(@/2-30°)—cos(6/2+30°)] =sin30°cos(8/2
+30°) = sin(260+30°)[-2sin(6/2) sin(-30)]
=sin30°cos(8/2 +30°)

= sin(20+30°)

= 2sin(8/2)
sin(26+30°) = cos(6/2+30°)

= —[cos(58/2+30°) —cos(30/2+30°)] =cos(8/2
+30°)] =cos(58/2+30°+cos(8/2+30°) -
c0s(30/2+30°)=0 = 2co0s(36/2+30°)
cosd —cos(30/2+30°) =0

[2cosf -1]=0

= cos(39/2+30°)
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(i) (0<30/2+30°<(3/2)x120°+30°=210°
) 36/2+430°=7x/2 6=40°
(i icos@=1/2 0 =60°
- LA-2C <7 —60°=120° !

20=4B=

/B =20=80° ZC = 40°
DABP 60-80-40
1.
t Bl
P, P"
( ) 6
!
2 .
473 8 2 (17.
3%) 98 0 (20. 7 %)
2.71 0.39
0.40 0.60
39 6.509
81
4.05
3, 3, 3, 2,
39
81
3.
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a bc d
a bc d
a bc d ¢+d)ct b—-c)a=m (a+d,b+c)
m a bc d

m=1 (atdb-c) =1

m=1
(at+d,b-c) & €ic da bc d(a—d+b+c)
=&td) -1 ) b-¢) & 1)
2(a+d b-c)

(atd,b-c,a-c) =1
a & d &db-(b-0a
(1X 2)
(a+b)b-(b-c)a= k+d+a-c) h+d-atc)

(atb) d-c-d) =<c) k+c+d)

a-c-d=k(b-c)
b+c+d=k(a+d)
:atb=k(a +-z+d)
k(c-d) %+1 )atp) k=1 c=d
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a>b>c>d ] k>2
P _04d _,
k-1 c¢—d
a bc d
1.
2. 473
27 (5. 7 %)
380 0 (80. 3%)
0. 78 0. 37 0 .
19 0. 36
39 5. 31
81
1. 21

39

81

3. a bc d a bc d

(atd)ct+ p-c)a=m (a+td b-c) abc d

m=1 (atd b-c) =1
a bc d
a bc d &+d)c+ b-c)a=am (a+d

b+c) m= 1
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